NNAH HA OTMETKE 0.000

[an]
s:] gk
(o]
I || L] L] LLJ 1] L] S g
o | E A e T
~ [fe)
13e) %’? \ _=.\.==.\.==.\=
KabuHeTt 2\
o
g AVpeKTopa g |3 @ @ @ 8
N
=EEE])|
<8r g =/= =/= =/=
~ 34 2 = Tyanet 9 —F
. S My>KCKOH —l_ S
00 | [Fo, 2045 Ul | O O O S| L S
3 =4 B = o
[ee) N (o)
i : = O O O
3 = =
| 8 O O Oz bwer .
S CnyxebHoe o | 3| | g
s 35 A
= nomeLueHne L Q Q 07_ |
14 g |
S S 2
CnykebHoe || | L f f S
3 nomeLLeHune 2 <
[ee] —— N
. 14 3
[y — o < 8
© % O
N | | S 1| 8
S CnyxebHoe S Kacca S
= nomelyerne L BbICTABOYHbI 3AN — — _ E
U~ =
|| & [l g |
& 1500 N = = = 450
640 | ' | 1200 @(jo 1600 L~ 53535 s 640 g 5360 S 640, / 2740 B S
S NI 8
3 | Moo ~ \=| [\so | |
o
D
Tyanetr .. || g | _ — '] g
—1| & 3 Kacca ][ g
PasgesanbHas  \ 2| = g
S asfesanbHas  \g| =
5 2| el | —=
XosanctBeHHass Ll
S KnapoBas = -
= A~ 250 250 250 250
= e I % 6000 6000 1/ 6000 6000 1/ 6000 6000 1/ 6000 6000
3 S [apaepob S
~ <
[omelLeHre N2~ L
S | AR -
8 AN oTAbIXa LA S
15 | _ -
g || E
8 ~
% 1 1 1 1 1
7=
R T 1T 1T 1T [T
2 g
© [apaepobHo - ~
| | noyweson bnok N\ 2[
oQ
2 (| gl | | ﬂ | | | | | | W W W L
3 S 152 Q
—I11 M M I M n M 1520 A o S
g
200 3
4600 1200 // 6000 50 4500 1500 4500 1500 4500 1500 4500 1500 4500 1500 4500 1500 4500 50 6000 6000
66000

an)

A2)

Tema AnnIOMHOro NpoeKTa: BblCTaBOYHbIN NaBUIIbOH

HanmeHoBaHue yepTexa : MnaH Ha otmeTke 0.000
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